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Note : There are three sections A, B and C in the paper.

(i) QI TH 397 GEI1 1 & T 10 9T 3 IR 7T | % 977 T 37 B 8 6

Gl 10 577 TGI8 JHR & T F & |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) BT & & 8 I7I H 8 81 6 o1 & IR T | I&F F97 3 37 H1 8 T

$7HT 5 13/50 sG] § IR AT /
Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) G d % 6 391 5 @ g 4 o7 & IR Y | I9% T97 8 3765%7?@

v)

$7T 15 Ts/150 sG] § I 7 |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

IR% QI & G4 F91 1 FHIR T Gre 57 Hilord |

Solve all the questions of a section consecutively together.

i) @ SrsT 4 31w 817 #1 1R 7 31 sgare @A 2

. @

Only English version is valid in case of difference in both the languages.

/A —T

SECTION - A
aa%ﬁsagw%mmﬁmwaﬁrﬁwﬁm ?
(a) FESH (b) it Ea
(c) YBdadH (d) ™
The mercury does not wet the glass. This is due to the property of the liquid known as
(a) Cohesion (b) Specific gravity
(¢) Surface tension (d) Viscosity
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7a % T TR QT Y€ U % STk W o1 31T STl
(a) TG UMl oA (b) T H EAE
(c) Ul 1 JMfeTes B (d) 9 H1 ATURIS T

The ratio of specific weight of a liquid to the specific weight of pure water is known
as

(a) Density of pure water (b) Density of liquid

(c) Specific gravity of water (d) Specific gravity of liquid
isiiefiet eft grr A gre et &

(a) TIAVSAN T (b) vET T

(c) Fowee @ fefaes

The pressure measured by piezometer tube is called

(a) Atmospheric pressure (b) Gauge pressure

(¢) Absolute pressure ‘ (d) Vacuum pressure

3ot el () gremrdt & e ave | T o g =t

(a) T o (b) I=FEA

(c) Ty TE (d) S=EIZTE

The liquid used in an inverted differential manometer should be of :
(a) Low density (b) High density

(¢) Low surface tension (d) High surface tension

T wars o 5@ % w0 ue v vy i e € 7 O g 5 99 H @
e &, I8 HIIT & —

(a) STRER yaTE (b) Tl TR

(¢) 3useh yarE @ (@3 ()Tl

A flow in which each liquid particle has a definite path and the path of individual
particles do not cross each other is called —

(a) Streamline flow (b) Irrotational flow
(c) Turbulent flow (d) Both (a) and (c)
AT TRt fepes ford S B @ 2

(a) gl (b) IATCHE Hiet

(c) diete Afaem (d) 3uqe @t
Bernoulli’s equation is applied for

(a) Venturimeter (b) Orifice meter
(c) Pitot tube (d) All of the above

(T % HUS T 5T HI UHIH & &I, 36 (o1 HUS qUT ST o ST
FITA BT SR —
1 1 1 41 1 ~1 1,1
@ 716 ¥3 ® 337 © z¥3 @ 393
In order to avoid the tendency of separation at the throat in a venturimeter, the ratio

of diameter at throat to that of the pipe should be

1 1 1 1 1 1
(a) 16 03 (b) g oy (©) Y (d)

B | —
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(viii) ForEft uTea & e o fore erur g1 o1 w4 2

2f LV2 2 2 2
(@) he= dx2g () b= (gl;\;g © he= 4(1; I;V (d) he= c?;\;g
Correct formula for friction loss through a pipe is
f LV2 2 2 2
@ by O RO @ heg
(ix) ToregTor o (c ) B |
FrEfaeh (e Agrf=ies Feaw
@ Ca=Fgrimme rream ®)  Cy = Frafos fremm

(c) C,=erefeh x Sgif~reh freawn (d) 3wt 3 8 s Tl
Value of coefficient of discharge (c,) is :
___ Actual discharge
@ C4=Theoretical discharge
_ Theoretical discharge
®)  C4="" Actual discharge
() C,=Actual x Theoretical discharge
(d) None of the above
(x) Hidcd Gefiehtor 1 8l g 2 —

A = 8gd, V=4, Q="fremm

22 A A?
(@) Q=A% b Q=5 (© Q=33 @ Q=AV
Correct formula for continuity equation is
A A?
@ Q=A*? () Q=y @© Q=3 (@ Q=AV
A = Area, V = Velocity, Q = Discharge (1x10)
Yo — ot
SECTION -B

2. e T i el 1 AT 1 5a U g & dl I8 T F T U @ 7

What role does the surface tension of a liquid play, when a glass tube of small diameter

is dipped into it ? €))
3. e S & o wwEd § 7 36 g3 fe |

What is meant by pressure head ? Write its expression. (€))
4. 3w o

(i) ool v Srepeff

(i) wen/fg/Pr fordta vamg

State the difference between :

(i) Rotational and Irrotational flow 1%%)
(i) One/two/three dimensional flow (1'%)

P.T.O.
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5. ST IO S GHSTIT | 59! HimTd forat |

Explain the Bernoulli’s equation. Write its limits. 1xa+1%)
6. IAThE et o afes Tzt |

Describe Orifice meter with diagram. 3
7. ST IEHTH! I Ao Fuid U |

Describe diaphragm pressure gauge with diagram. 3)
8. UTSY H YaTE % I ¥ gIf ST A o STE ol T hi AT R |

Explain Darcy’s formula for loss of head during flow in pipes. A3
9. HHSATSU -

(a) A I JaTE

(b) Toagey vETE

Explain :

(a) Laminar Flow 1%)

(b) Turbulent flow 1%)

qRE —
SECTION - C

10. (i) = T AT 19 B THEna |
(i) TR ? fafi= ver & @ fan |

(i) Explain Newton’s Law of viscosity. @

(i) What is fluid ? Explain various types of fluid. Q)
11. Tafi= Aidiex (grammdt) <1 o 6 |

Describe different manometers. ®

12. Segtmrht & verfaa fremwn ma o o ford wger wfientr syea= il |

Derive an equation to measure the quantity of water flowing through a venturimeter. (8)

13. 7500 efiex ¥ fire i et & arfead &1 @ T atal i 7 & fore wep Aegiliefiet 1 3w
fopam Sma 2 | Sgivfiet & ol W e ST e 8 m S S R | ST HI ST 19 cm B |
e ForEeoT TuTes 0.96 B Al HUS HT ST F1d U |

A venturimeter is used to measure the liquid flow rate of 7500 litres per minute. The
difference of pressure across the venturimeter is equivalent to 8 m of flowing fluid.
The pipe diameter is 19 cm. Calculate throat diameter of the venturimeter. Assume

coefficient of discharge for venturimeter is 0.96. 8)
14, HacT THIHTT ! THIST | FHh! e forat |
Explain continuity equation and write its limits. 8)

15. Tsy H yafed 59 o fafir= ofi arfoi s wna |
Explain different types of head loss during flow through pipe. )




